

County of DeKalb, GA

Purchasing and Contracting

Michelle Butler, Chief Procurement Officer 1300 Commerce Drive, Decatur, GA 30030

BID TABULATION

SOLICITATION No. 2025-079-ITB

Redan Road at South Stone Mountain Lithonia Road Traffic Signal

RESPONSE DEADLINE: July 30, 2025 at 3:00 pm COST OPENING: September 3, 2025 at 12:00 pm

VENDOR TOTALS

Vendor	Total
NGT Group LLC	\$470,689.28

ROADWAY ITEMS

	ROADWAY ITEMS					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	
X	150-1000	TRAFFIC CONTROL	1	LS	\$98,489.28	\$98,489.28	
X	210-0100	GRADING COMPLETE	1	LS	\$6,249.32	\$6,249.32	
X	310-1101	GR AGGR BASE CRS, INCL MATL	57	TN	\$121.52	\$6,926.64	
X	402-3130	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	56	TN	\$123.69	\$6,926.64	
X	402-3190	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME	7	TN	\$989.51	\$6,926.57	
X	402-3121	RECYCLED ASPH CONC 25 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME	15	TN	\$461.77	\$6,926.55	
X	413-0750	TACK COAT	38	GL	\$182.28	\$6,926.64	

ROADWAY ITEMS					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	432-5010	MILL ASPH CONC PVMT, VARIABLE DEPTH	616	SY	\$11.24	\$6,923.84
X	446-1100	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH	98	LF	\$70.68	\$6,926.64
X	441-0108	CONC SIDEWALK, 8 IN	62	SY	\$306.22	\$18,985.64
X	441-6222	CONC CURB & GUTTER, 8 IN X 30 IN, TP 2	56	LF	\$222.48	\$12,458.88
Total				1		\$184,666.64

SIGNING AND MARKING

	SIGNING AND MARKING					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	
X	636-1033	HIGHWAY SIGNS, TP1 MATL, REFL SHEETING, TP 9	26	SF	\$32.35	\$841.10	
X	636-1036	HIGHWAY SIGNS, TP1 MATL, REFL SHEETING, TP 11	34	SF	\$29.49	\$1,002.66	
X	636-2070	GALV STEEL POSTS, TP 7	120	LF	\$29.13	\$3,495.60	
X	653-0100	THERMOPLASTIC PVMT MARKING, RR?HWY CROSSING SYMBOL	1	EA	\$562.44	\$562.44	
X	653-1501	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, WHITE	325	LF	\$1.19	\$386.75	
X	653-1502	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, YELLOW	57	LF	\$1.25	\$71.25	
X	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	425	LF	\$3.12	\$1,326.00	
Х	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	85	LF	\$8.75	\$743.75	

BID TABULATION

2025-079-ITB - Redan Road at South Stone Mountain Lithonia Road Traffic Signal

Page 2

SIGNING AND MARKING					NGT Gr	oup LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	653-6006	THERMOPLASTIC TRAF STRIPING, YELLOW	24	SY	\$7.50	\$180.00
X	654-1001	RAISED PVMT MARKERS TP 1	14	EA	\$6.87	\$96.18
Total						\$8,705.73

SIGNALS

	SIGNALS					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	
X	682-9950	DIRECTIONAL BORE, 6 IN	140	LF	\$32.01	\$4,481.40	
X	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	9	SF	\$37.75	\$339.75	
X	636-1041	HIGHWAY SIGNS, TP 2 MATL, REFL SHEETING, TP 9	32	SF	\$36.80	\$1,177.60	
X	639-2002	STEEL WIRE STRAND CABLE, 3/8 IN	250	LF	\$2.61	\$652.50	
X	639-3004	STEEL STRAIN POLE, TP IV, INCL 35FT MAST ARM (BLACK)	1	EA	\$20,279.07	\$20,279.07	
X	639-3004	STEEL STRAIN POLE, TP IV, INCL COMB 30FT/30FT MAST ARMS (BLACK)	1	EA	\$35,707.85	\$35,707.85	
X	682-6120	CONDUIT, RIGID, 2 IN	180	LF	\$9.45	\$1,701.00	
X	682-6233	CONDUIT, NONMTL, TP 3, 2 IN	575	LF	\$4.80	\$2,760.00	
Х	926-2500	3G / 4G CELLULAR ROUTER TYPE - B	1	EA	\$2,967.36	\$2,967.36	

	SIGNALS					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	
X	647-1000	TRAFFIC SIGNAL INSTALLATION NO - 1	1	LS	\$109,423.92	\$109,423.92	
X	937-4100	PEDESTRIAN DETECTION SYSTEM NO - 1	1	LS	\$31,742.17	\$31,742.17	
X	939-5010	ELECTRICAL POWER SERVICE ASSEMBLY, AERIAL SERVICE POINT	1	EA	\$5,897.98	\$5,897.98	
Total						\$217,130.60	

EROSION CONTROL

EROSION CONTROL					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	163-0232	TEMPORARY GRASSING	1	AC	\$924.90	\$924.90
X	163-0240	MULCH	2	TN	\$617.43	\$1,234.86
X	165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TYPE C	90	LF	\$2.50	\$225.00
X	171-0030	TEMPORARY SILT FENCE, TYPE C	180	LF	\$6.56	\$1,180.80
X	643-8200	BARRIER FENCE (ORANGE), 4 FT	100	LF	\$5.19	\$519.00
Total						\$4,084.56

LANDSCAPING

LANDSCAPING					NGT Group LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	700-6910	PERMANENT GRASSING	1	AC	\$1,774.81	\$1,774.81
X	700-9300	SOD	11	SY	\$100.86	\$1,109.46
X	700-8000	FERTILIZER MIXED GRADE	1	TN	\$1,364.85	\$1,364.85
X	700-8100	FERTILIZER NITROGEN CONTENT	6	LB	\$2.06	\$12.36
X	700-7000	AGRICULTURAL LIME	1	TN	\$718.67	\$718.67
Total						\$4,980.15

UTILITIES

UTILITIES			NGT Group LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	670-9220	REMOVE EXIST FIRE HYDRANT	1	EA	\$9,373.98	\$9,373.98
X	670-4000	FIRE HYDRANT	1	EA	\$9,373.98	\$9,373.98
X	670-1060	WATER MAIN, 6 IN	12	LF	\$416.62	\$4,999.44
X	-	ADJUST WATER VALVE TO GRADE	2	EA	\$3,687.10	\$7,374.20
Total						\$31,121.60

WORK ALLOWANCE

	WORK ALLOWANCE					oup LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	-	WORK ALLOWANCE	1	EA	\$20,000.00	\$20,000.00
Total						\$20,000.00

Recommend award to the lowest responsive and responsible bidder: NGT Group LLC, 5665 Shirlee Industrial Way, Alpharetta, GA 30518

Note:

American Lighting and Signalization was deemed non-responsive for failure to submit all required documents. GTG Traffic Signals was deemed non-responsive for failure to achieve the County's LSBE participation requirements.

Witenss Signature: **Jessica Johnson**Agent Signature: *Danielle Swearingen*